| Efficiency vs Dxy |
0.1

B 0,00
< S S
S
s s s o o
0B
008
004 b
003

dxy

efficien

5 R e o o s
s T o o e

1.

Ratio

=
!

O%bs STIETIG—E "6 B 16 18 30 35

TP dxy (cm)

—=— DOM_TT__mKFi_ORIG
— —— DQM_TT__mkFit_MODIF
| Efficiency vs Dz | —— /data2/legianni/newRel-PR129/sta/lCMSSW_13 2_0_pre3/src/DQM_TT__ORIGok

0.1 —— /data2/legianni/newRel-PR129/sta/lCMSSW_13_2_0 pre3/src/DQM_TT__ ORIG
N . ; X X T
> : : :

000 RSOOSR SPSSROIOK SOSSOOON OSSO SRR MO
5 T T .
5008 g RS i“"“j """""""
o : : :
EOO? T AR -----------
Q 5 %1 : ; 5
0.06 L IR oot s
0.05 | AL — ;¢m"mg ...........
008 b
0.03 ; ; ; B
002 g
0.01 1 R } ----------- ; ........... g_m"4 ...........

Ratio

930 20 =10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


